SPCS

Form 4 Principles of Accounts

Notes on Chapter 19

Depreciation of Fixed Assets – Part I
19.1 Nature of fixed assets

Fixed assets are those assets, which are:

(a) Of long life.

(b) To be used in the business.

(c) Not bought with the main purpose of resale.

To determine whether assets are fixed or current, it is important to look at the purpose of their acquisition rather than the types of the assets. 

Examples of fixed assets include machinery, land, motor vans, fixtures, buildings and furniture.

19.2 Depreciation of fixed assets

Fixed assets like machinery, motor vans, fixtures do not last forever.  They have a definite useful life.  

Generally speaking, the life of an asset being gradually exhausted may be referred to as depreciation.  Depreciation applies to every asset with a definite useful life.

For example, if a motor van is bought for $100,000 and sold five years later for $20,000, then the amount of depreciation is $100,000 - $20,000 = $80,000.

New Term:

Depreciation

- The part of the cost of the price of fixed asset consumed during its period of use by the firm.

- The gradual reduction in the value of an asset / the cost of using that asset.

19.3 Causes of depreciation

Causes of depreciation can be divided into FOUR main categories, namely (1) physical deterioration, (2) economic factors, (3) the time factor and (4) depletion.

(1) Physical deterioration

(a) Wear and tear


- When a motor vehicle, machinery or fixtures and fittings are used, they eventually wear out.

(b) Rust, rot and decay


- The metals in such assets such as motor vans or machinery will rust away over the years, rendering the assets useless.  Wood will rot eventually.  Lack of proper maintenance will also cause assets to decay due to the action of wind, rain, sun and other elements of nature.

(2) Economic factors

(a) Obsolescence


- The process of becoming obsolete or out-of-date.  A depreciable asset may suffer from economic obsolescence, which would shorten its useful life rather than the physical life.  This could occur either due to technological advancements rendering the asset obsolete or to a significant decline in demand for the product in respect of which the asset is used.

(b) Inadequacy


- This is when the asset is no longer used because of the growth and changes in the size of the firm.  It does not necessarily mean that the asset is no longer in good working order.

(3) The time factor

- There are fixed assets to which the time factor is connected in a different way.  These are assets which have a legal life fixed in terms of years.  For instance, you may agree to rent some buildings for 10 years.  This is normally called a lease.  When the years are finished, the lease is worth nothing to you, as it has finished.  Whatever you paid for the lease is now of no value.

(4) Depletion

- Other assets are of wasting character, perhaps due to the extraction of raw materials from them.  Natural resources such as mines, quarries and oil wells come under this category.  To provide for the consumption of an asset of a wasting character is called provision for depletion.

New Term:

Depletion

- The wasting away of an asset as it is used up.

19.4 Land

Land can normally be said to last forever, and therefore does not usually require a provision for depreciation.   There are exceptions, such as mines and quarries which are subject to depletion as mentioned in 19.3 above.

19.5 Methods of depreciation

The two main methods in use for calculating depreciation charges are the straight line method and the reducing balance method.

(a) Straight line method / Fixed instalment method

- By the straight-line method, the number of years of use is estimated.  The cost price of the asset is divided by the number of years of the estimated useful life to give the depreciation charge each year.

- It is a depreciation calculation by which depreciation remains at an equal amount each year.


Depreciation amount = 
Cost of asset – Estimated residual value *





     Estimated no. of years of asset life


Example 1

An asset costing $80,000 is depreciated at 10% per annum using the straight-line method.


Depreciation amount = 

$80,000 x 10% = $8,000 per annum


Depreciation amount = 

$80,000 - $0 
=     $80,000 
= $8,000






(80,000/8,000)
       10 years

Example 2

An asset costing $50,000 and having an estimated life of 5 years and an estimated scrap value of $5,000 will be depreciated under the straight-line method.


Depreciation amount = 

$50,000 - $5,000 
= $9,000 per annum






       5 years

* Estimated residual value can be called disposal value or salvage value.

(b) Reducing balance method / Diminishing balance method

- By the reducing balance method, a fixed percentage for depreciation is deducted from the cost in the first year.  In the second or later years, the same percentage is taken off the reduced balance (i.e. cost price – depreciation already charged).

- It is a depreciation calculation by which the amount of depreciation is based on the net book value of the asset brought forward from the previous year. 

Depreciation amount = 
(Cost – Accumulated depreciation) x Depreciation rate

Example 1
- An asset costing $10,000 is depreciated using the reducing balance method at 10%.

	Year
	Cost / Net book value

(Beginning)
	Depreciation charge
	Accumulated depreciation
	Net book value (Ending)

	1
	$10,000
	$1,000
	$1,000
	$9,000

	2
	$9,000
	$900
	$1,900
	$8,100

	3
	$8,100
	$810
	$2,710
	$7,290


Example 2
- An asset costing $30,000 is depreciated using the reducing balance method at 20%.

	Year
	Cost / Net book value *

(Beginning)
	Depreciation charge
	Accumulated depreciation
	Net book value (Ending)

	1
	$30,000
	$6,000
	$6,000
	$24,000

	2
	$24,000
	$4,800
	$10,800
	$19,200

	3
	$19,200
	$3,840
	$14,640
	$15,360


* ‘Net book value’ means the cost of a fixed asset with depreciation deducted.  It is sometimes simply known as ‘book value’.

19.6 Straight-line vs. Reducing balance

A firm has just bought a machine for $8,000.  It will be kept in use for four years, when it will be disposed of for an estimated amount of $500.  The firm asked for a comparison of the amounts charged as depreciation using both methods.  For reducing balance method, a percentage of 50% will be used.

Straight-line method

Depreciation amount = 

$8,000 - $500
= $1,875 per annum






    4 years

Reducing balance method
	
	Straight-line method
	
	Reducing balance method

	
	$
	
	$

	Cost
	                         8,000
	
	8,000

	Depreciation: Year 1
	1,875

	(50% of 8,000)
	
4,000

	
	                        6,125
	
	4,000

	Depreciation: Year 2
	                        1,875
	(50% of 4,000)
	2,000

	
	                           4,250
	
	2,000

	Depreciation: Year 3
	                        1,875
	(50% of 2,000)
	1,000

	
	                       2,375
	
	1,000

	Depreciation: Year 4
	                       1,875
	(50% of 1,000)
	500

	Disposal value
	                          500
	
	500


This illustrates the fact that using the reducing balance method, there is a much higher charge for depreciation in the early years, and lower charges in later years.

19.7 Accounting entries for annual depreciation

The depreciated amount will NOT be written off in the fixed assets account (although it will reduce the value of the fixed asset) but will be recorded in the ‘Provision for Depreciation account’.  This account is used to record the accumulated depreciation of the fixed asset.

Steps in accounting entries:
1. Record the depreciated amount

Dr. Profit and loss account 

Cr. Provision for depreciation

2. Balance off the Provision for Depreciation account

3. Deduct the provision for depreciation amount from the cost of the fixed asset in the Balance Sheet

19.8 Exercises

Exercise A

Mr. Lee purchased a new machine of $5,000 for his factory on 1 June 1999.  His financial year ends on 31 May.  Mr. Lee decided to depreciate the machine by (a) straight-line method at 10% per annum (b) reducing balance method at 10% per annum.  Prepare the machinery account and provision for depreciation for machinery and extract of balance sheet as at 31 May 2000, 31 May 2001 and 31 May 2002.

(a) Straight-line method

	Machinery

	1999

1 Jun
	Bank
	$

5,000
	2000

31 May
	Balance c/f
	$

5,000

	
	
	5,000
	
	
	5,000

	2000

1 Jun
	Balance b/f
	5,000
	2001

31 May
	Balance c/f
	5,000

	
	
	5,000
	
	
	5,000

	2001

1 Jun
	Balance b/f
	5,000
	2002

31 May
	Balance c/f
	5,000

	
	
	5,000
	
	
	5,000

	2002

1 Jun
	Balance b/f
	5,000
	
	
	


	Provision for depreciation

	2000

31 May
	Balance c/f
	$

500
	2000

31 May
	Profit & Loss Account
	$

500

	
	
	500
	
	
	500

	2001

31 May
	Balance c/f
	1,000
	2000

1 Jun
	Balance b/f
	500

	
	
	
	2001

31 May 
	Profit and Loss Account
	500

	
	
	1,000
	
	
	1,000

	2002

31 May
	Balance c/f
	1,500
	2001

1 Jun
	Balance b/f
	1,000

	
	
	
	2002

31 May
	Profit and Loss Account
	500

	
	
	1,500
	
	
	1,500

	
	
	
	2002

1 Jun
	Balance b/f
	1,500


	Balance Sheet (extract)

	31 May 2000
	$
	$
	
	
	

	Fixed Assets
	
	
	
	
	

	Machinery
	5,000
	
	
	
	

	Less: Provision for depreciation
	500
	4,500
	
	
	

	
	
	
	
	
	

	31 May 2001
	$
	$
	
	
	

	Fixed Assets
	
	
	
	
	

	Machinery
	5,000
	
	
	
	

	Less: Provision for depreciation
	1,000
	4,000
	
	
	

	
	
	
	
	
	

	31 May 2002
	$
	$
	
	
	

	Fixed Assets
	
	
	
	
	

	Machinery
	5,000
	
	
	
	

	Less: Provision for depreciation
	1,500
	3,500
	
	
	

	
	
	
	
	
	


(b) Reducing balance method

	Provision for depreciation

	2000

31 May
	Balance c/f
	$

500
	2000

31 May
	Profit & Loss Account
	$

500

	
	
	500
	
	
	500

	2001

31 May
	Balance c/f
	950
	2000

1 Jun
	Balance b/f
	500

	
	
	
	2001

31 May 
	Profit and Loss Account
	450

	
	
	950
	
	
	950

	2002

31 May
	Balance c/f
	1,355
	2001

1 Jun
	Balance b/f
	950

	
	
	
	2002

31 May
	Profit and Loss Account
	405

	
	
	1,355
	
	
	1,355

	
	
	
	2002

1 Jun
	Balance b/f
	1,355


	Balance Sheet (extract)

	31 May 2000
	$
	$
	
	
	

	Fixed Assets
	
	
	
	
	

	Machinery
	5,000
	
	
	
	

	Less: Provision for depreciation
	500
	4,500
	
	
	

	
	
	
	
	
	

	31 May 2001
	$
	$
	
	
	

	Fixed Assets
	
	
	
	
	

	Machinery
	5,000
	
	
	
	

	Less: Provision for depreciation
	950
	4,050
	
	
	

	
	
	
	
	
	

	31 May 2002
	$
	$
	
	
	

	Fixed Assets
	
	
	
	
	

	Machinery
	5,000
	
	
	
	

	Less: Provision for depreciation
	1,355
	3,645
	
	
	

	
	
	
	
	
	


Exercise B

Mr Wu starts his business on 1 October 2001.  On this date, he bought an office equipment costing $25,000.  He decided to depreciate the fixed assets at 20% by using the straight-line method.  Write up the office equipment account, provision for depreciation account for the year ended 30 September 2002 and 30 September 2003 and a balance sheet (extract) for these two years.

Exercise C

Mr Wu starts his business on 1 October 2001.  On this date, he bought an office equipment costing $25,000.  He decided to depreciate the fixed assets at 20% by using the straight-line method.  Write up the office equipment account, provision for depreciation account for the year ended 30 September 2002 and 30 September 2003 and a balance sheet (extract) for these two years.
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